Math 121 - Test 4 Nov 25 2015

Question 1 [10]: Determine the derivatives of the following functions. It is not necessary to simplify your final

answers.
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Question 2 [10]:
(a) Solve for x: In(x+1)+In(x—-1)=1
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(b) Find the exact value of tan (arcsin (—=1/2)) .
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Question 3: Use logarithmic differentiation to find y’ where y = al ?;(1_'_();;_ 5)
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Question 4: Determine the following limits:
At W

sin(5x) O

(a) x50 tan (3x) o

VIR
= b $cos(rx)
P el

= |5
3
, L H [3?:]
(©)  fmVEn) - O (=)
\ B A
:_,"’Lm ,Q,v\()() = - —L X
X Dot .y X0
X
m '
— (%)
x-0* =3
(-"LL'X—/L)
u t T 3]
@ e (o 0
X+ |-x o
' -~ - N
- LM e(l'x)b(x) — L/V“\« \/)C
=+ x91* ':T'
/Q-V\(“)} = _\
_ L. e 1x
x—21F
-
= | &
[4]

p. 4of 7




Nov 25 2015

Math 121 - Test 4
Question 5: Determine the absolute minimum and maximum values of f(x) = x2e™* on the interval [—1, 3]
(Note: it may be useful to know that €? is approximately 7, and that €® is approximately 20.)
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X
X2+ 1

Question 6: For this question use f(x) =

(a) Determine the intervals on which f is increasing or decreasing

§‘(X)': (Xz-‘t"‘)(.l) = X['Z'X) = I'—X___ (I"X)(/'(‘zj
X & /"‘7 | h‘-x"}:‘—'o

n
° £(x) nt exist”/ wo Juck X

(/_\3_9_"'_6 Xrl:bo forotr V‘eﬁi)f So £ 15 cowhniaus
ovel hifberertioble o (—w,0) _ )

—_ |
C,\n"Eo numng ¢

t f {
Lest, ?"'S ' @ @

§CX)"'X : — 0 + 0 —
| +xt

fn= L N R A 2 \N

H- x"

N lmcrectxf‘zg O~ (—{)‘).

)
3 daresm\«? 0w (-ao)-—()u(floo)

[8]
(b) Determine the local (or relative) maximum and minimum values of f.
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